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PART A: Vocabulary

Directions: Choose the word or phrase (1), {2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1-  Working on the assembly line was --——--- work because 1 did the same thing hour after
hour.
1} efficacious 2) monotonous 3) momentous 4) erroneous

2-  People are guilty of -——-- when they make judgments before they know all of the facts.
1) 1llusion 2) arrogance 3) avarice 4) prejudice

3-  Justin ———- himself from the embarrassing situation by pretending he had to make a
telephone call,
1) extricated 2) extracted 3) exposed 4y expelled

4-  He was accused of manipulating the financial records to cover his —————-.
1) suspicion 2) scrutiny 3) fraud 4) paradox

5-  Since the jungle was -——--—, we had to find an alternate route to the village.
1) permanent 2) vulnerable 3) redundant 4) impenetrable

6- Management refused to ---——- the union’s demands, so a strike costly to both sides
occurred.
1) capitulate to 2) withdraw from 3} 1impose on 4) grump about

7-  We had nothing in common, but despite our --——-- backgrounds and interests, my new
roommate and | became good friends by the end of the semester.
1) comprehensive  2) conscious 3) heterogeneous 4) haphazard

8- Megan’s foreboding about going to class turned out to be ---——- as the instructor gave a
surprise test for which she was completely unprepared.
1) quahified 2} justified 3) perplexed 4) wholehearted

9 If she had known how much of an ————-- her student debt would be, she would have
found a different way to finance her education.
1) apphcation 2) encumbrance 3 ) unmunity 4) optimism

10- The mechanic examined the engine carefully but said he was not able to -—--—- — the
cause of the problem,
1} pinpoint 2) derive 3) acquire 4) escalate

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Horticulture has a very long history. The study and science of horticulture dates all the
way back to the times of Cyrus the Great of ancient Persia, and has been going on

(11) =mmmmmeaeee . with present-day horticulturists such as Freeman S. Howlett and Luther
Burbank, The practice of horticulture can be retraced for (12) -——— . The cultivation
of taro and yam in Papua New Guinea dates back (13) - at least 69506440
cal BP. The origins of horticulture (14) ---———-———- in the transition of human
communities from nomadic hunter-gatherers to sedentary  or  semi-sedentary
horticultural communities, (15) =====e==-——- a varicty of crops on a small scale around
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their dwellings or in specialized plots visited occasionally during migrations from one
area to the next.

11- 1)ever since 2) yet 3) that far 4} still
12- 1) many thousands years 2) many thousands of vears
3) years of many thousands 4) many vears of thousands
13- 1) from 2) for 3)in 4)to
14- 1) are laid 2) lay 3) lie 4) are lying
15 1) cultivating 2) cultivated 3) that cultivated 4) to cultivate

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet

PASSAGE 1

Agncultural extension 1s the applhication of scientific research and new knowledge to
agricultural practices through farmer education. Any particular extension system can
be described in terms of both how communication takes place and why it takes place.
It is not the case that paternalistic systems are always persuasive, nor is it the case that
participatory projects are necessarily educational. Instead there are four possible
combinations, each of which represents a different extension paradigm, as follows:
Technology Transfer (TT) (persuasive + paternalistic) was prevalent in colonial times
and reappeared m the 1970s and 1980s when the "Training and Visit" system was
established across Asia. Technology transfer involves a top-down approach that
delivers specific recommendations to farmers about the practices they should adopt.
Advisory work (AW) (persuasive + participatory) can be seen today where
government organizations or private consulting companies respond to farmers'
inquiries with technical prescriptions. It also takes the form of projects managed by
donor agencies and NGOs that use participatory approaches to promote predetermined
packages of technology. Human resource development (HRD) (educational +
paternalistic) dominated the earliest days of extension in Europe and North America,
when universities gave training to rural people who were too poor to attend full-time
courses. [t continues today n the outreach activities of colleges around the world. Top-
down teaching methods are emploved, but students are expected to make their own
decisions about how to use the knowledge they acquire.

Facilitation for empowerment (FE) (educational + participatory) involves methods
such as experiential learning and farmer-to-farmer exchanges. Knowledge is gained
through interactive processes and the participants are encouraged to make their own
decisions. The best known examples min Asia are projects that use Farmer Field
Schools (FFS) or participatory technology development (PTD).
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16-

17-

19-

20-

The passage points to the fact that —-—-—- -

1) “Training and Visit” system was first established in Europe

2} top-down methods are emploved only by students

3) "AW’ and “FE’ share important characteristics

4) experiential learming are not dominant in Africa

According to the passage, ‘Human resource development’..,—---—--——--- G
1) would concer education between farmers working on the same land
2) was re-introdued in parts of Asia during the 1970s and 1980s

3) would invlove universities giving training to poor rural people

4) used to be excecised by white settlers in the colonial times

We understand from the passage that ——--—-—-- -

1) TT and AW are not related in anyway

2) AW contains important elements of HRD

3) FFSs are advanced and specialised PTDs

4) TT may not concern farmer-to-farmer exchanges

The passage is mainly about --——-————-- .

1) “paternalistic extensions’ 2) “extension paradigms’

3) ‘educational extensions’ 4) “extension costs’

The word *paternalistic’ in the passage (underlined) best refers to someone or a system
who / which takes -—---—-—-——- decisions for the people they govern, employ, or are
responsible for.

1} all the 2) the best

3) only few 4) only the important

PASSAGE 2

Farmworld started as a farm educational and leisure park south of the town
of Wrexham on the North Wales and England border, It opened in 1990 following
repeated school visits to the farm in the previous decade looking at farming and food.
The visitor experience centred on dairy cows and milk production, lamb feeding and
animal care, and land use by means of a mechanised tour on a trailer unit powered by
an agricultural fractor. The tours were led by the farmer William Jones who for fifteen
vears explained the complexities of land use, animal husbandry, integration of
woodlands and landscape, and ultimately its relationship with the day to day consumer
of British food. The farim had been closely allied to food production in the locality of
Wrexham since 1933) Owning the Wrexham Dairy located in the centre of the town, it
pasteurised milk and produced cheese and sold a range of dairy products in the region.
The dairy opened one of the first milk bars in the local town, this closed in 1953 as
similar nationalised facilities grew across the UK. The farm continued to supply a
range of produce mto local markets, and produced large volumes of foodstuffs,
especially milk. for the commodity markets. Farmworld now has interests in the
manufacture of dairy and cheese products. Whilst the diet of the nation has centred on
varying advice from experts and changes in what is a good nutritional balance, the
importance of mental health has grown wvastly m the latter part of the 20th century.
While the food that we eat is the first dictum of our bodily health, likewise open
countryside and the landscape that we shape as a nation 1s important to our well-being.
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21-  The passage mentions that Farmworld ———--——- .
1) 15 also active in the production of dairy and cheese products
2) has stopped dairy production m the Wrexham area from 1933
3) opened the first milk bar in North-Wales border in 1953
4} does not produce milk or foodstuffs for commodity markets
22-  The passage points to the fact that ——-—--——-- -,
1) the food that we eat 15 the first dictum of our bodily and mental health
2) Farmworld had been open to students before it was officially opened
3) pasteurised milk from Farmland is one of the best across England
4) the land on Farmland 1s managed by a trailer unit powered by a tractor
23- The passage suggests that -—-----——--
1) milk-production companies in Eng.land are nationalised facilities
2) woodlands are essential to the producytion of British food
3) there are two important leisure parks on the North Wales border
4) mental well-being is one the objectives of Farmworld
24- We understand from the passage thal —---——-- .
1) Farmworld exports part of dairt it produces to Europe
2) Farmworld i England 1s modeled after the one m Germany
3) tours of the Farmworld would not include cow milking
4) Farmworld cheese has a rather poor nutritional balance

25-  The word *husbandry’ in the passge (underlined) best means -——-—--——- .
1) “farming’ 2) ‘welfare’
3} ‘maintenance’ 4) “cattle’
PASSAGE 3

Participatory technology development (PTD) is an approach to learning and innovation
that 1s used in international development as part of projects and programmes relating
to sustainable agriculture. The approach involves collaboration between researchers
and farmers in the analysis of agricultural problems and testing of alternative farming
practices. The origins of Participatory Technology Development can be found in a
number of approaches, concepts and techniques that became popular in the 1970s and
1980s: Farming systems research and extension (FSR/E), an approach that introduced
social-economic issues into organisations previously dominated by biological and
chemical scientists. FSR/E also promoted the idea on ‘on-farm' trials; Appropriate
Technology (AT), a concept that recogmises the importance of matching the design of
technology to the resources and culture of the user: Indigenous Technical Knowledge
(ITK), a concept that recognmised the mmportance of local expertise and traditional
wisdom: Participatory Rural Appraisal (PRA). a set of techniques that promoted the
involvement of rural people in decision-making. One of the leading authorities on this
progess is the Centre for learning on sustainable agriculture - ILEIAbased in the
Netherlands. ILEIA has described PTD as a process between local communities and
outside facilitators which involves: gaining a joint understanding of the main
characteristics and changes of that particular agro-ecological system; defining priority
problems; experimenting locally with a wvariety of options derived both from
mdigenous knowledge ... and from formal science. and enhancing farmer’s
experimental capacities and farmer-to-farmer communication. PTD facilitators are
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28-

30-

usually researchers, sometimes consisting of a team that includes both biological and
social scientists. While PTD 1s closely hinked to research, it often crosses the boundary
into agricultural extension because it involves learning activities with farmers.

The passage points to the fact that -——------ -—

1) sustainable agriculture without PTD is meaningless

2) FSRJE 1s not based on the idea of "on-farm' trials

3) PTD is a cub-class of ILEIA established in England

4) PTD options do not come only from formal science

The passage mentions that --———-—-—-—
1} ITK was employed as a farming practlce since the ancient times
2) farmer-to-farmer communication enhanes farming output

3) PTD involves testing of alternative farming practices as well

4) PTD functions as a complex kind of an agricultural extension

According to the passage, ---—-—----- -,

1) the origins of PTD date back to the early twentieth century

2) biological and social scientists may have an interest in PTD

3) PRA researchers consist of teams from different sciences

4) resources and culture of the user depend very much on AT

We understand from the passage that —-—---——--

1) ITK was, as a concept, firmly in place in the I‘-)?'Ds and 1980s
2) agro-ecological systems define their won priority problems

3) as a set of techniques PRA 1s not suitable for rural people

4) FSR/E 1s dominated by biological and chemical scientists

The word *process’ in the passage (underlined) refers to ——-—-———-

15T 2) ‘PTD’ 3) ‘ITK 4) ‘PRA’
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